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Topic assessment 
 
1. Write the following in terms of the simplest possible surd. 

(i) 27   (ii) 288   (iii) 96     [6] 

 

2. Simplify 

(i) 98 32  

(ii) 75 10 24   

(iii)   1 2 3 2 2          [9] 

 

3. Rationalise the denominators of the following and simplify as far as possible 

(i) 
12

6
    (ii) 

2 3

3


    [4] 

(iii)
1

3 2
   (iv) 

1 2

3 2




    [6] 

 

4. Find the values of 

(i) 1 364    (ii) 52   (iii)  
0

1
3

   [3] 

(iv) 1 225    (v) 3 29       [4] 

 

5. Simplify 

(i) 3 8 5 x x x    (ii) 
3 5

2 5 2

( )

( )

a

a
    [6] 

(iii)  
2

2 23 2a b ab         (iv) 
2 22 4

6
 

x y x z

yz z y
   [6] 

 

6. Simplify 

(a) 3 2 5 5 232 8 2       

(b) 1 3 2 3 5 310 25 2           [6] 

 

 

Total 50 marks 
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Solutions to Topic assessment 
 

1. (i) 27 9 3 3 3     

            [2] 

(ii) 288 144 2 12 2      

            [2] 

(iii) 96 16 6 4 6     

            [2] 

 

2. (i) 98 32 49 2 16 2

7 2 4 2

3 2

    

 



      

            [3] 

(ii) 75 10 24 25 3 2 5 4 3 2

5 3 2 5 2 3 2

5 3 2 2 5

60 5

        

  

    



   

            [3] 

(iii)   1 2 3 2 2 3 2 2 3 2 2 2 2

3 2 4

2 1

     

  

 

   

            [3] 

 

3. (i) 
12 6 12 6

2 6
6 6 6
     

            [2] 

(ii) 
 2 3 32 3 3 2 3 3

3 3 3 3

 
    

            [2] 

(iii)
  

1 3 2 3 2

3 2 3 2 3 2 3 2

3 2

3 4

3 2

 
 

   






  

    

            [3] 
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(iv) 
  
  

1 2 3 21 2 3 2

3 2 3 2 3 2 3 2

3 2 3 2 2

9 2

5 4 2

7

  
 

   

  







 

            [3] 

 

4. (i) 
1 3 364 64 4          [1] 

(ii) 5

5

1 1
2

2 32

           [1] 

(iii)  
01

3 1          [1] 

(iv) 
1 2 1 1

25
25 5


          [2] 

(v)  
33 2 39 9 3 27          [2] 

 

 

5.  (i) 3 8 5 3 8 5 6x x x x x       

            [3] 

(ii) 
3 5 15

15 5 10

5 22 5

( )

( )

a a
a a

a a
    

            [3] 

(iii)  
22 2 2 2 4 4 53 2 3 4 12a b ab a b a b a b     

            [3] 

(iv) 

2 2 482 4

6

y xx z

yz z y
  

2 2x y 2z

36 2y 2z

24

3

x
  

            [3] 

6. (i)    

15 5
2 2

3 / 2 53 2 5 25 5 3 5 / 2

15 / 2 15 5 / 2

15

20

32 8 2 2 2 2

2 2 2

2

2

 



 

    

  





 

            [3] 

(ii)  

41 5 1
3 3 3 3

2 / 31 3 2 3 5 3 1 / 3 1 / 3 2 5 / 3

1 / 3 1 / 3 4 / 3 5 / 3

2 1

10 25 2 2 5 5 2

2 5 5 2

2 5

2 5

5

4

   

  

   



     

   

 

 



  

            [3] 


